(1)

(2)

(3)

(4)
(5)
(6)

| (8)

T 3 H H 3pTelt e qar gl
Find the missing number in the sequence:

2,4,8,16,?

a) 20 b) 32
c) 24 d) 48 :
oA Qo9 9 v Qv 8

a) Pl b faci

¢) T d,  lf

Which word is the odd onc out ?

a) Dog b) Cat

c) Cow d)~ - Chair

U=y H S{TCAT U &1 g 2

What comes next in the pattern ?
A,B,D,G,K,?

a) N b). O

cy P d M

¥ ue un Son g N 6F ofe b 109 A §1 H P A FOE?
I am an cven number. I am greater than 6 but less than 10. What number am I'?

a) 10 b 8

c) 9 d 7

ofe freft Hig WTWI A 1 &1 A, 2! B foran o € dl o favaes forg ferar smam 2
If A" Stand for 1, B" Stand for 2, then what does *J* Stand for?

a) 8 b) 9

¢ 10 d) 11

gf& CAT = 3120, DOG=?

If CAT = 3120, then DOG =7

a) 4157 b) 4156
c) <4160 d) 3157
frg A @ foww weg &1 997 X

a) By b) gd

o @i d)~ Tl
Find the odd onc out:

a) Trianglc b) ‘Circle
c) Squarc d) Sphere

RAGE 4R R, IR e Ry TR ?

The hour hand is between 4 and 5, and the minute hand is at 6. What is the time?
a) 3:30 b} 4:30
c) 445 d) 415
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(9) Il Wh IR faeh T awr o AR TR § Ao RE -

) fafcel b).. MR

o Rfym 9 IRF Y HE T
If all lions arc cats, and all cats arc animals, then all lions are-
a) Cats b)  Animals

¢) Birds d) Nonc

(10) sf@em &1 apren ug @1 B

What comes next in the scquence?

10,20,40,80,
a) 100 | b 120
&) 160 d) 200
(11) 8 T2 &1 909 oY
S8 . ufdar :: m . 2 ;
9 Wy b el
©  uHq | d  Tags

Choose the correct analogy:
Cold : Winter :: Hot : ? |
a)  Rain b)  summer 4
c) spring d) autumn :
(12) 3fE 7=p,14=q,21-R A 28-2
If 7=P, 14=q, 21=R, What is 28=?
ar s - B T
c) Q d U
(13) 3rwr ifed &1 far 3, INT 7 &1 v 2, A feeft &Y uelt g,
feeita =1 Ifea ¥ = fzar 3 | |
a)  offelm b) fora
) UA d i
Arun is Rohit's father, Rohit is Mala's brothcr, Mala is Dilip's wife, what is Dilip's
relationship with Rohit?
a)  Brother in law b) Father _ 4
¢) Son d) Uncle
Fexr @1.9.14-15) 7% uy F IR RAEHed a,b,c.d Raw 1 3 37 9w BAF # 3 f
3= A e uqm%qmw%mﬁwﬁa&mﬁﬁrﬂ%iwﬁmﬁaﬁi
97 B
Instructions (Q. No. 14-15)- In each question four options a,b,c,d are shown. Out of these four

pictures, three pictures are alike in some way while one picture is-different from the others. Select
a picture that is different from the others.

(14) gj_g ’7';_“_:; w_i_“ji_H;:j:
'. b) c)

a) d)-

L
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(15)

(16)

(17)

(18)

(19)

(20)

i || || H L
a) b)
A Vet A dome) @ aprel) dikr aur @il 2

What will be the next row of numbers in the following pattern ?

T
55 | 60 | 65
e

a) 75, 80, 85 Ty 85,90,95

¢) 95,100, 105 d) 100,105,110

Ueh WH WK 7:40 st SR Gl § qeT 5 6 30 e Tl @) et fove Wy &g
qaTR ?

A school starts at 7:40 am and lasts § hours 30 minutes, What time does school close?

a)  1:10 am/ ‘Fﬁ’t'? b) " 1:10 pn/ IATEA

&) 12:10um/ qaTEA d) 1210 pm / 3AULEA

3ifia frelt 1 1 30 f1 N TmTe v Wavan § AR 96 15 fasT B B Al Hrd B
faremT HFT QR BT ?

Amit can complete a work in 30 days. If he works for 15 days, how much part of the work will be completed ?

a) 1730 : b) 115

o % d %

for amepfar B fram AyeT € 2

Ilow many triangles arc there in the following figurc ?

a) 16 b) 13

) 7 . d 9

Sj@er ! quf N -

Complcte the scquence .

CMM, E0O, GQQ, ____,KUU

a) GRR b) GSS
e) ISS d nT
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(21)

(22)

(23)

(24)

U G B GH: 7, 10,8, 11,9, 12
3Tl i ¥ W st iR

Look at this scries: 7, 10, 8, 11,912

what number should come next °

a) 12 k) 13

C) 7 d) 1o

107 x 85 x 96 x 0 x 54 ] GNUTT §

The result of 107 X 85 X 96 X 0 X 5 is

a) 465600 ) 487500
c) 15482 d 0

gfe T 9t ¥ 93099 @ B @ wd H 125w A fhaa fime 2 €7

If a clock shows 9:30, how many minutes are left for the clock to strike 12 7

al 120 ﬁﬂ_ﬂ Minutcs b) ISDFEF'TZ/ Minutcs

c) 180 A9 / Minutes d) 210 FirE /
Minutcs

T TS & SR TR B g, e 3 e, g B arer A2 @ e 31 gt R @ e
TPR GHEEd g ?

a) fum SIRY |

<) 9wl d)  Hdle

Pointing to a boy, Riya said, “IHc is the son of my grandfather’s son." How is the boy related to Riya?
a) Father b} Brother

c) Uncle d) Nephew

¥ w25 Td 26) F9 U T v Wy F 9R O (a),00),(c) i (d) XTI AR A A
9 F s R Y te 99 €, Wefe 0@ foF s A a5l o 3 i e st aga &d

Directions: In Question No. 25 and 26, four figurcs (a), (b), (¢) and (d) have been given in each question,

of these four figures, three figures arc similar in some way and one figure is different. Sclect the figure

which is different.

(25)

(26)

(a) (b) (c) B C))
RUN NUR NKU RNU

(a) (b) ©) (d
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(27) = g e us A wa uy R far man @ aur a), (b), () 3R (d) A R TR IR fa Ry g
81 IR o Auy g & ey foF &1 999 3
In the following question, a question figure is given along with four answer figurcs marked as (a),
(b), () and (d). Choosc the answer figurc that is similar to the question figure.

vy fa=w

=T ==t '
e N e e N el g =
— @ T <> (<) -

R 3. 28-30) R Ry ¢ vl vy A web R o wran @ Rt U@ HI7T @ &1 T &
T Y SR 23 (a),(b).(0) 3R () P 3@ qu1 39 STR R @1 war weg forerept feetr fer=m afae
& vy o 1 Qe 7 & fore oy R & g wrr & war o 9%

Instructions (Q. Nos. 28-30 ): Each question below contains a diagram in which a part is missing. Look
at the given answer diagrams (a), (b), (c) and (d) and identify which answer diagram.can be placed in-the
missing part of the question diagram to complcte the pattern without changing its oricntation.

(28) === a=

-
- -

= g

St R icE ]

@ ) © @

(a) (b) (= (d)

=53 030 5= = I
@) (5) © (a)
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(31)ﬁ%ﬁquff?ﬁwwﬁﬁﬁﬁmﬁwaﬁﬁﬁ%mmaﬁgﬁmwgl w1 R ofy w5

# 21 At Y @ F ¥ g Iuetew I 244 (a),(b),(c) 3T (d) F ¥ wF B w1 w77 QA wy
o & wreft v F =nfw Ry s a9

In the following question, three question figures arc given, and a fourth space is lcft blank.

The question figures are in a scquence. To complcte the scquence, choose one of the answer figurcs
(2), (b), (c) and (d) that can be placed in the empty spacc of the question figures.

v fax

al) w ‘

T fax

&) (c) (@

(a)

Fe(5.40.32-33) A3 R 0 sl o 7 21 w07 it 21 32 Ry w21 gwt e ww vy g
% (d # (N
T §E ¥ 2 ot et 3 o R e &1 ot g e gt de B e ot < v e o
BT S 1 I (), (0),(0) AR (d) F & 5w Rer v w5 o 07 R A iy wam

Instructions; Q. Nos._ 32-33: In each of the following qucstions, two sets of question figures are given. In
the secpngl set, there 1s a question mark (?). The first sct of two question figures is related in a specific
way. Similarly, the third and fourth question figures in the second sct must also be related in the same
way. Choosc one of the answer figures (a), (b), (c) and (d)that will replacc the qucstion mark.

(32 ==
':E::: |
© a@|

(33) "“:“' ) i i
é‘:gg[::%jﬂ: ,

V| |AlV] A

() @ (c) [T]]

(34) & weu v AT

Find the missing Number-

49,16, ....7, 36,49,64 _
a) 18 b) . 20
) 25 d) 30

(35) PaRdfmardivadg?
Which is the following is a leap year ?

aj- 2004 b) 2005
c) 2006 - d) 2010
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(36)

(37)

(38)

(39)

(40)

(41)

N
HHI AVET FT 777 8-
a), IT-=g
c)  SOT-WTOY
Find the Odd pair in the following pairs-
a) Income-Expenditurc
c}' Beginning- Start

b)  smamer-Frafa

) WRg-sg

b) Import- Export
d)  Ascending- Descending

e 1 7t 9 % 12 ffdro-
a) i, TR, RIS 3 b) TR, wdfrrm, v, T
) WRq, BXIETE, TR, vy T d)

TR, wefemTs, wiea, il
Sclect the following in the correct order: |

India, Asia, Raipur, Chhattisgarh

a) Asia, Raipur, India, Chhattisgarh b)

Raipur, Chhattisgarh, Asia, India
c¢) India, Chhattisgarh, Raipur, Asia

d)  Raipur, Chhattisgarh, India, Asia

AR 26 St 1 W w7 R 2 ar 31 ST Y B |7 R g ?

a) e b) Twarx

0 TFER d afEr

1£26 January is Sunday then Which day will be on 31* J anuary ?

a) Sunday b) Wednesday

c) Friday d) Saturday

AT s o & Al s F Rro ot Rer § 20 et woreft § Rt ag aft Rem gz #= 10 Hrexaedt s -
ot ar st fav R & Sft 2

a) & b) afiry

c) =fEor d) I

If Geeta walks 20 meters in the East dircction from her h

0 omc for going to temple than she turns
lcft side and walks 10 meters. In which direction will Ge

cta bc Now?
a) East b) West
c) South d) North
35 mﬁﬁwﬁﬁﬁwmﬁw%ﬁrmaﬁ?@wm%wmﬁm?
In the row of 35 boys Rahul is standing in the middlc then what is his position from Left as well
as from Right side.
a) 17° b) 19"
¢ 18" d) 20%
BNITHTE: TAYE o2 TremT: .2 '
a) U b) Hwmx
o s - d) sk
Chhattisgarh : Raipur :: Rajasthan: ....7... .
a) Jodhpur b}  Bikaner
c) Jaipur d) Ajmer
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(42)

(43)

(44)

(45)

(46)

(47)

e ersal & & R areg R AT 87
a) =ufex by wfe=
c) == d) A

Which is the different word from the following words?

a) Temple b) Mosque

c) Church d)  Hospital

Aer, e & Tt & AR qrer A N ¥ der & sk e, g § A & & gad der 7 77
a) qW b)  H

c) aer d) g

Nitesh is clder than Mukesh but younger than Surcsh and Govind and Govind is younger than
Suresh. Find who is the youngest?

a) Surcsh b}  Mukesh

c) Nitesh d) Govind

3 3R H & w1 Ravey Rufif@a & smud) g o) ogad Hdl o7

(A FY (B) W Q) IR

Which option in Venn dlagram expresses the mutual reratlonshrp of the following?
(A) hands Iegs (C) body

GraD | e
@ d)®.©

g & - qd, ITR 8 ol §, STR- d, Ufesy g <l § of 3 a¥e, Sfgr - ufdm &

BIIT?
a) I - b) ufgm
c) q\a‘ ; d) <f&mr

If south-cast-becomes north, north-cast becomes west, then similarly, what will
become south-west?

a) North b) West

c) East d) South

T iR 7 45 4 @ (A,B,C,D) F TR W, AR ARF AU BT ax Fo1 § elx s g =afr A &
T aT2 AT AT 7, T =AME B F LT aT5 A HIA 27 82

In a group of 4 pcople (A,B,C,D) sitting in a linc, if Person A is sitting at onc cnd and Person B is

sitting to thc immcediatce right of Person A, who is sitting to the immediate left of Pcrson B?
a) D b) A

c) B d ¢
W& ¥ 3:00 9 § d 6 B g5 oK e Y g F f= @1 aiu feaw 2

What is the angle between the hour hand and the minute hand when the time is 3:00?
a) 90° b) 180"

c) 270° d) 360°
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(48) = Ul I -343,216, 125, .........

Complete the serics - 343, 216, 125, .....oooovevininnnnen.s
a) 64 b) 209
c) 120 d) 11

(49) TR T srpfadl ¥ wam From @1 urew frar ol & @ gW WO I P

Find the missing number if same rule is followed in all the three figurcs
28 23 31
19 [,E:l 50 2615 32@ 34
41 , 18 35
a) 34 ' b) 32
c) 36 c) 72

(50) =R ‘MOUSE' #t ‘LNTRD' % & fifta fiar mar ¢, & ‘HOUSE' % g #is & 2

If MOUSE' is coded as 'LNTRD' what is the codc for ' HOUSE'?
a) HRUES b) HPVSF
c) HPTUF ¢) GNTRD



YT - & (3IBfOre)

(51) Wa @i -
Simplify -
780 +15+76-457 =
a) 67 by 89
d)

c) 83

78
TF NGd BT AFwE 72 @ dex 31 AR o oflex §, A SR I BN 2

; is the width?
A rectangle has an area of 72 square meters. If the length is 9 meters, what is

a) 9 HieYUmeters by 12 Hiey/ meters
c) 8 HITX meters d 10 Y/ meters

(52)

(53) ; WIvfawa? Rrar o1 o 2. .

1 . .

Fi Can be written in percentage as..

a  75% | b) 4%

<) 50 % d 25%
(54) 350-10 (9X4) +10 BT HF A Y 2

Find the value of 350-10(9X4)+10 ?

a) 370 by ©

c) 340 - d) 360

(55) Fufafea fell @ sradiet o & owafem X 25,2,

. , 5 3 6
Write in decreasing order ; - Y, Py

ay %536 by 4635
9’9,9,9 9’9’9?9
g 6543 d 4563
9’9’9’g 9°9’9’g
(56) ¥ 6281° 61 WA &1 ¢ 7
What is the place value of 6 in the number 62817
a) 60 b) 6000
€)' 600 d 6
(57) 4001 25% T ENT 2
What is the value of 25 % of 400 ?
a) 25 . | b) so
C) 100 _ d) 200 ;
(58) gﬁﬁwwﬁﬁﬁiﬂwﬁﬁfﬁﬂl e 7§ M 3% wed R, 9wy R

A car is traveling at a speed of 60 kilometers per hour If the
. car travels for i ce
does it cover? ; 3 hours, how much distan

a) 120 fFft/K.M. b) 180 f¥ft/k.m,

o 240 feAfKkm. d) 60 fsfrskm.
(59) 5, 10 3R 15 BT LT GATER (L) FrT Y

What is the least common multiple (LCM) of 5,10, and 15?

a) 10 b) 20

c) 15 - d) 30
(60) 103 15T HEWH WHIYTH® (Her) Far 2

What is the highest common factor (HCF) of 10 and 15?

a) 5 b) 10

c) 15 d 20
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af2 UE GO B 9V WN FRA W NG 6@ 8, A @ Gom B W F wHd

61
( ) If a number divided by 9 leaves a remainder of 6, what could that number be?
a) 15 by 18
(9 23 , d 31
(62) gﬂmaﬁ 10% B TR A= T AR IUST HU YU 450 TUA uT| WD fawwl g w@w
An item was sold at a 10% loss, and its cost price was X450. What would be its selling price?
a) 450 b) 400
) 500 d) 405
(63) U GoIR ura W v & Sien A fer o Wl -
Fifty Five Thousand Five hundred thirty can be written in numbers- *
-~
i a) 55503 b) 55003
% C) 55530 _ d) 55330
. (64) 330 = feft ord ) 15 T 2 R A @ 40 45 ol 5 T ) e Rt et o el @7

If 30 people can complete a work in 15 days, then in how many days 45 people will ablc to
complcte the same work ?

a) 20  fRe/days b) 15 fR/days

i o 10 fdays d) 30 Rdays

5.55 1 55.555 1 0.555 <1 QNTHS 41 81T ?

(65)

What is the sum of 5.55 + 55.555 + 0.555 7

a) 65555 b) 61.505

o0  61.660 > d) 61.595
(66) 5° PIHFEIEM? _

What will be the valuc of 5% ?

a) 3 b) 5

9 1 | d 0
(67) 1357911 ud 13 @1 Aad FEFT 2

: What is the average of 1,3,5,7,9,11and 13 ? S
b)

- a) 4.

) 6 d 7

60° mﬁwaﬁwmmmm?

What is the supplimentry angle for 60°?

T8 60° b) 30°

B e gy QR T T
3l 40901 T TNTEHE T BT ?

10234, 20456, 30678,
4, 20456, 30678 and 409017

What is the sum of 1023

a) 102269 b) 102270

o 102271 d) 10227

12.3 31 4.5 &1 U TG DIV &7 :

Find the product of 12.3 and 4.57

a) 4535 b) 5535

c) - 5545 . d) 35.55

21 &4t 3 Yo AT TP T BT GRET A B

What is the perimeter of a square with a side length of 21 cm?

a) 41 §ftem p) 84 ¥t/ cm
d) 63 ¥t/ em

c) 83 A.ft/em
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(72) 1 @1 wRewH w9 @ BT y

\Tihat is the simplest form of the fraction 2% 0 %
a) %
C) 3 d) '1?5

Rrar o1 Gl -

squrd @ ol A
(73) 916 WG HOREd gwR o W ! S one can be written in numbers

- . » hty-
Eight lakh,eighty-seven thousand three hundred eig
a) 80873081 b) 88703081

¢ 8807381 d) 887381
(74) 1.1
373 mmm-
Find the value of - L —
3 3
a) 1 B 1
3
9 1 | 0 2
9 e
6

What is the largest two-digit odd number?
a) 95 -
c) 99 i’ .

d) 93



(Read the passage and answer the question No, 76-80)

Mahatma Gandhi was born on 2nd October 1869 in Porbandar, Gujarat. His full name was
Mohandas Kam.mchand Gandhi. Ilc is also known as the Father of the Natiorr in India. Gandhi believed in
truth and non-violence. He led many movements for India's freedom, such as the Dandi March and Quit

India Movement. He was a lawyer by profession but devoted his life to the scrvice of the nation. Gandhi's

teachings inspire millions of people across the world cven today.

(76) When was Mahatma Gandhi born?
a) 15th August 1947

b)  2nd October 1869
c)  26th January 1950 d)  14th November 1889
(77) Where was Mahatma Gandhi born?
a) Dclhi b) Porbandar i

c) Ahmedabad

d) Mumbai
(78) What was Gandhi's profession?
a) Lawyer b)  Doctor
c) Teacher d) Farmer
(79) Which movements were led by Gandhi for India's frecdom?
a) Quit India Movement b) Dandi March
c) Both A and B d) Nonc of these
(80) What did Gandhi believe in?
a) Violence b)  Power
c) . Truth and Non-violence d) Moncy
(81) Choosc the correct plural form of the word "Child":-
a) Childs b)  Children
c) Childes d)  Childrens
(82) Which of these words is a noun?
a) Black b) sweet
b c) Cat d) Run
! (83) Fill in the blank with the correct article: "She saw __ clephant at the zoo."
B 2)  The b a
c) an d) Nonc of thc above
(84) Arrange the following words to form a meaningful sentence: is / my / book / this
a) Is this book my . b)  This is my book.
B ¢) My book this is o word d)  Book this is my.
o0 Choosc the correctly spelled word:
(:_85) a)  Fcbruary b)  Febuary

c) Fcbrury d)  Farbari



- @ (qmr - f@dh)
TRIINT &Y UgHT WA ST 86 A 90 T I &

15 STTET FY T IO F EEEAT R wA §) 7 R g 3 i ?ﬁmf&w%l
15 m1947ﬁmgﬁﬁsmmﬁmﬁ?ﬁl @ fr @efY A SOA-A TR & 20 ¥ g
Whﬁﬂﬁwglaﬁwﬁw%ﬁ?qﬁ,ﬁ?ﬁaﬂtﬂmﬁmﬁm%mmg,
T RS qrepfE w8 ag R g s 2a % agr e AT ¥ afwm A
RemaT &1 i e 2er 3 9 aferfirg AT iR A T8 Aga< A # TS ST iRy
(86) ¥acHd feaw fary fafdy &) wamar o &2 :

a) 15 9Td b) 26 %ad
.9 2 d) 144N

(87) mmgﬁqwmiﬂ

a) ORplas sdwn b) @SR

o - dfaqHi @A d) Sulad

(88) ‘SISl o1 wafare wreg T B2

a) XqdAdl b) ifa

o ifa d
(89) HeI Uk &1 facha &

a) Bl b w

o 3Qyd d)
(90) ey H anf T E?

a) fomgr b) St

0  Hgd d duusia
(91) W &1 WafgErt W A &7

a)  ABd b) 3§

c) e d) @Yy
(92) HfT & fadm W= & 82

a Wd b) H¥wa

0 omMd d wRa
(93) WFR-uFR BT FT 3nf g2

a) wfifer Gl b) | T

q AR g d ww
(0a) Fraffem & & P W T= Mads &

T b)  ug

d) r G‘@H”Lw_-"— SR

(95) FuftifEa & @ & W w0 Wi 2
a) 9 W R Y b W R
c) ﬂﬂmﬁﬂ'ﬁiﬁ d) ﬁaﬁmmﬁ



HTT - 7 (1T - BT

(96) BN F whao B T B N
a) RIS [N

o wom i
(97) IS _ 9oy, a5 o Uy

a) = b) T

)  HRH d 7fd
(98) BTG & TRy s #1 RS F 7y af 2

a) gl b) drar

) Hedl d Hier
(99) B Ve “wara &1 o= 3l §:-

a) o) b) THIXR

) S d) g

(100) E—rﬂw%ﬂ?ﬂm@mma{ﬁﬁm% |
a) o | b) |l Bl S
o ofgdfemidm d @S



